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GENERAL INSTRUCTIONS TO THE EXAMINEES:
1. RIefTeft FdueM 319 U UF W AMiG Afaria: ford |
Candidate must write first his / her Roll No. on the question paper compulsorily.
2. A UeT B SR € |
All the questions are compulsory.
3. Ud U BT IR &l g STR—YRdT H 81 ford |
Write the answer to each question in the given answer-book only.
4. R gedl # o<aR& @os &, S 91 @ SR Ud a1 8l ford |

For questions having more than one part, the answers to those parts are to be written together in
continuity.

5, e U3 @ 2 9 Sl wuick # R yeR @ e /iR / fRemird g wR 2= W & g
BT FE A |
If there is any error / difference / contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid.
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U1.

U2

3.

Ua.

U.b.

U.6.

u.r.

g3 AT 3B D T
1 — 8 1
9 — 14 2
15 — 24 3
25 — 30 5
art Question Nos. Marks Per Question
1 -8 1
9 - 14 2
15- 24 3
25- 30 5

YT AP 28 W 30 § IRD fddhod € |
Threre are internal choices in Q.No.28 to 30.
HIT_(31)

Part (A)
JfhTT USSR @ 1 UHE sk foIlRay |
Write the two components of baking powder. (1)

I Ul B S & fory SuRRfl S Al A faRed S ot See a9l e @1 9o 2 |

Write the name of reproductive process in the plants which have lost the capacity to produce seeds.

(1)

Nfdﬂl.@.ﬁ

OO > T

FANT FARRATDT & URAN] TR forfRey |

Write the atomic weight of chlorine isotopes. (1)

fr=rforfRad & 9 Udel ol Ud Ydel &R 2 |

@n  Uifed 3 Al EISSIdARIA 3R

@)  AISTH TSSIRASS AT DicHIH BRSITASS

In the following strong acid and strong alkaine base is- (VatV2=1)
(a) Acetic Acid or Hydrochloric Acid
(b) Sodium hydroxide or calcium hydroxide

Bl 3y TV &3 & g &7 T 99 & | 39 Fefid e & fou s Fifg |

The magnetic field in a given region is uniform. Draw a diagram to represent it. (1)
Y 3NTTgs & 1 foRay e gRT 3y a8 8l 2 |

Write the name of acidic oxides which are responsible for acid rain. (1)
el &S oIfd Heror o (UreR ofreH) H qd | ufkad Qe &1 &R fIga o yarfed &1 <&
21 b Ad A @ el fig ) g a3 @) e wr gnfi?

A current through a horizontal power line flows east to west direction. What is the direction of
magnetic field at a point directly below it? (1)
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U.s.

v.9.

9.10.

g.11.

912

U.13.

U.14.

3
fau v gRuy form WA= # 10Q UfoRIY & yarfed o7 |, Si1d ST |

+|, =
L

12v K

In the given circuit diagram calculate the current |, through the resistor of 10Q. (1)
5Q
I

1 NANANANN
A BZ: >C D
10Q
l, — VN RVN—

N Y !

T (&)
Part(B)
FATS AATHAT fhd Ped &2 199 g3l IeT @ STel Dl |Alo siiHishar foray |

What is combination reaction? Write combination reaction of quick lime with water. (1+1=2)

ITH ST AT BT IR fa9ward foRkay |

Write four characterstics of the good source of energy. (1/2><4=2)

S8R BT A # f5d SR & JH1er Gl BT YANT HRAT A12d UG 1° T B |
In night which type of beam of light is used by drivers and why? Explain it. (1/z+11/2=2)

FHIT 3T Bl IATERT §RT WL DI |
Describe homologous organs with the help of example. (1/2+11/z=2)

gfte & folt AR 31 95 &l &, $ad U I e1° 59 92T Bl 719 MERI TR T BIFTI—

@) 3fe e

@ O MR W)

Why do we have two eyes for vision and not just one? Explain the fact on the basis of —

(@)  Field of view (1)
(b)  Dimensional view (1)

Sirared & gyt foRay den g9 a9y fAuiRor ufshar &7 e ST |

Write the definition of fossils and explain the process of dating of fossil. (1+1=2)

S-07-Science V - 1003 | Turn Over

Previous Pathshala




4

T (¥)
Part (C)

15, @)  UBET AN WHH Bl IS IfAfhAr T 39 UhH @ QR 8 dlell "e folfRay |

@) 9T DI T dge H DA U BT FANT fhar Srar 27

(a) Write the chemical reaction of the photosynthesis and events occure during the process. (2)

(b) Which type of mirror is used in head lights of vehicles? (1)
g16. (1)  ifSgad UfR | HIAT gFA FIdd BIAT 57 M BT Uh B oIl |

@)  aed H e B Pis & BRI ARy |

(a) Which hormone is secreted by Adrinal glands? Write any one function of this hormone.

(1+1=2)

(b)  Write any two function of betteries in vehicle. (1)
g17. veiad IMfhar fow @w'd 27 Ifear Zno+C—szn+CO # fow ugred &1 Su=ws ud fhaaer

3= &l ET 2?

What is redox reaction? In the reaction ZnO+C—Zn+CO which substance gets oxidised and which

gets reduced? (1+1+1=3)
918, (@) & ey <Uur & o eaEE @1 g3 felkay |

@ 9 quur & A foRan, i fdq @1 Hien g safda- ufifde a71 | |

() SO U & HEF B df a9 forfRey |

(a) Write down formula for the ‘magnification-obtained by a spherical mirror. (1)

(b) Name a mirror that can give an erect'and enlarged image of an object. (1)

(c) Define the principle focus of a convex mirror. (1)
g19. ufaadl =19 &1 AHifed RE a9rey ufdadi fhar aasmey |

Draw a labelled diagram of reflex arc and explain reflex action. (1+2=3)
U420 Picd X Bl dIad Y H GHferd iy —

e X (e Tl /fraw ) e Y ()

(i)  faga aw (@ R=Ri+R;+Rs

(i)  fawa=R (b) p=RA//

iy ot @ Frm © J-1,1

R 1 RZ

(iv) ORI (by V=W/Q

(v) Sl B FAeE e) 1=Q/t

(iv)  FHOR A FIroid (f) V=IR
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Match the column X to column Y (V2x6=3)
Column X (Physical Quantity/Law) Column Y (formula)

(i) Electric current (a) R=Ri+R;+Rj3

(i) Potential difference (b) p=RA//{

(iii) Ohm’s Law (c) 1 = i + i

R R, R,

(iv) Resistivity (b) V=W/Q

(V) Series combination of resistor’s (e) I=Q/t

(vi) Parallel combination of resistor’'s (f V=IR
U21. IS U &1 Y= 81 Bl €, T4 9T BRI WHSISY |

If an egg is not fertilized then what happens? Explain it. (1+2=3)
U422 oied & IS RIgid & faRay |

FrfeRad & FH IO @ aTel dcd. BT A1 foTRag |

@)  AEgE

@  forform™

Write Newland’s Law of Octaves. (1+1+1=3)

Write the name of element having similar properties of the following.

(a) Nitrogen

(b) Lithium
¥23. pHhd ¥ HEd 87 W &l (b §8 &1 pH IRIdT Sied bl R 7 |

What is pH Scale? Explain that pH change of the mouth is cause of tooth decay. (1+2=3)
U.24. 600W 3TFAT BT HIs [dgfd WhiuiNex 8 ¢ /& I m Sar 21 4.00 9 UfT KWh @& &% 9§ 39

30 fad T =™ & oy ST &1 Hod AT 57

An electric refrigerator rated 600 W operates 8 hour/day. What is the cost of the energy to operate it

for 30 days at Rs. 4.00 per KWh? (3)

T (3)
Part (D)

U425 (@) SMER @l | &7 JWU 57

(@) 99 & HeH H AER G Bl IAERYT §RT AR |

(M TP yRGT # Il UATE BT IRW gRT T DT |

(@)  What do you mean by food chain? (1)

(b) Explain the food chain in grassland with an example. )

(c) Explain the energy flow in an ecosystem with help of diagram. )
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ERCONC)

~—

6
P & AU UR Bl O] GG LR H USSRl 57
SIS 9 FARIA URATS &1 Seidgla = forfey |
SIS d TR URATRI & Hed Soldgl & RIFRRU ¥ HIfSTH FARISS B a1

ENIE

Which metal exists in liquid state at room temperature ? (1)

Write electronic configuration of nitrogen and chlorine atoms. 2)
Show the formation of sodium chloride by the transfer of electrons between nitrogen and

chlorine atoms. )

¥27. URERI ORT d gRANT DR ol 9 I[OH PR dlell iR Bl PRI e I |

gqPT AMIfhd o 99130 | 59 g7 feen uRads & I9smsy |

Define alternating current and explain working of the device which produces it. Draw labelled

diagram. Describe the change in direction of current. (1+2+1+1=5)
W28 ()  HMG TET G BT AHifbd fm O sy |
@ A= ¥ SIS dr wrdd SiE Sifadrse w1 URded &y 8Al §, THsgd |
3ATqT
@)  vawd fHd wEd 27
@) P Uil DI JGULS DBIC DI AMIifhd 2 a5 |
() uredl H 9o qIT g el @ RN Gl qHSgY |
(a) Draw a labelled diagram of human respiratory system. 2
(b) Explain the transportation of oxygen and carbon dioxide in human beings. 3
Or
(a) What is respiration? (1)
(b) Draw a labelled diagram of cross section of leaf. 2
(c) Explain the transportation of food and other substances in plants. 2)
¥20. (@) fUSH | UG eacs & fhRor fod 9918y den ¥od USrer @ faguer @ gReedr @r

qHATRY |

@) o guar &1 gF gy 9o g9a J5d B aR9Iig I |
AT

@) f=faRad &1 G-

()  argHS sruadH vd M qEfe |

iy fevse wvra |

(i) e gfe I Jgaa = &1 o = =1 |
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Draw ray diagram of refraction of light through a prism and explain the phenomenon of

dispersion of light. (1+2=3)
(b) Write the formula for lens power and define its unit. (1+1=2)
Or
(a) Explain the following-
(i Atmospheric refraction and advance sunrise. 2)
(ii) Tyndall effect. )
(iii) Draw the ray diagram of an eye suffering from short sightedness. (1)
30 (@) I @7 IrA faRay |
@) 9wl BT AT G 9918y aUT 594 SUReT BaEn @ ww&n forfg |
@) frEfaRad & 9 w9 el 8° 39 SuRed Aeaieid gl © ¥ forfRay |
(i) CoH; (i) CoHq4 (i) CaHs
(a) Write molecular formula of benzene. (1+2+2=5)
(b) Draw structure formula of benzene and write number of triple bonds present in it.
(c) Which is ethane in the following? Write. number.of co-operative bonds present in it.
(i) CzH> (i) CoHq4 (i) CaHs
SATT
Or
(@)  aTsFArEedT Bl URGH [T |
@)  ATSTARadT B G¥ET gF gAsU J1 SHH SuRed Hedarad gel o Hw@ Ry |
@) f=faRad # & vl S 82 39H SuRerd fgder @ A fofRau |
(i) CoH; (i) CoH4 (i)  CaHs
(@)  Write molecular formula of cyclohexane. (1)
(b) Draw structure formula of cyclohexane and write number of co- operative bonds
present in it. )
(c)  Which is ethene in the following? Write number of double bonds present in it. 2)
(i) CoH; (i) CoHq4 (i)  CaHs
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